# Te Kāhui o Taranaki Trust

# Education Grants Eligibility Information









### **IMPORTANT - PLEASE READ BEFORE COMPLETING YOUR APPLICATION**

- The dates for Te Kāhui o Taranaki lwi Education Grants are:
  - o 5 January 2026 to 31 March 2026 Secondary School
  - 5 January 2026 to 31 March 2026 Tertiary
  - o 5 January 2026 to 30 June 2026 Vocational/Apprenticeships; and
  - 5 January 2026 to 30 June 2026 Non-fundable short courses, conferences, membership subscriptions and non-studylink applications
- The Applicant must be registered with Te Kāhui o Taranaki (Taranaki lwi)
- Grants are available to those who are formally enrolled in a New Zealand:
  - a. School
  - b. University
  - c. Polytechnic
  - d. Institute of Technology
  - e. Wānanga
  - f. Private Training Establishment
  - g. Businesses taking on Apprentices.
  - h. Recognised Industry Provider; or
  - i. Approved Training Organisation (ATO)





| IMPORTANT - PLEASE READ BEFORE COMPLETING YOUR APPLICATION | 2 |
|--|---|
| 1. TITLE   | 4 |
| 2. OBJECTIVE   | 4 |
| 3. PURPOSE   | 4 |
| 4. POLICY STATEMENT  | 4 |
| 5. SCOPE   | 4 |
| 6. GRANT APPLICATION ELIGIBILITY                           | 5 |
| 7. APPLICATION PROCESS AND ASSESSMENT                      | 5 |
| 8. CONDITIONS AND RESPONSIBILITIES                         | 6 |
| 9. POLICY OWNER AND REVIEW CYCLE                           | 6 |
| 10. APPENDIX 1   | 7 |





The overall aim of Te Kāhui o Taranaki (TKOT) Education Grants is to provide financial assistance to Taranaki lwi students in their academic aspirations, and to assist those taking up vocational training including apprenticeships or applying for non-fundable short courses, conferences, membership subscriptions or non-studylink applications (up to \$500 each).

### 1. TITLE

Te Kāhui o Taranaki Trust - Education Grants Eligibility Information

### 2. OBJECTIVE

- To determine the process for awarding Taranaki lwi Educational Grants; and
- To assist students registered with Taranaki lwi to:
  - Fulfill their potential for academic success; and
  - Encourage applicants to contribute their knowledge and skills towards the wellbeing and development of Taranaki Iwi whanau, hapū and iwi

### 3. PURPOSE

The purpose of the policy is to outline the eligibility and application criteria, terms and conditions relating to the selection and disbursement of Education Grants by Taranaki Iwi.

- The range and scope of educational grants available from Te Kāhui o Taranaki lwi;
- The criterion framework that can be applied;
- The application and assessment procedure;
- The conditions of each grant;
- Decision making and award disbursement; and
- The internal roles and responsibilities

Ensuring that good practices of fairness, clarity, and transparency are clarified throughout the Education grant process.

### 4. POLICY STATEMENT

The key principles of the Educational Grant Policy are:

- To facilitate opportunities to be well educated and to participate in lifelong learning;
- To promote and reward excellence.
- To enable equal access to quality education and training opportunities; and
- To harness a commitment to the objectives of Te Kāhui o Taranaki lwi

### 5. SCOPE

The Educational grants awarded and covered by this policy are:





- Secondary Grant \$50,000
- Tertiary Grant \$90,000
- Vocational Grant \$10,000 (10x Grants of \$1,000)
- Non-fundable short courses, conferences, membership subscriptions and non-studylink applications \$10,000 (up to \$500 each)

Actual grant amounts are dependent on the number of successful recipients, as per Appendix 1.

Note: Maximum grant amount of \$847 for Secondary and \$1,525 for Tertiary (In FY25, 132 Secondary and 133 Tertiary grants were awarded).

Any surplus underspend may be reissued in the form of special educational, cultural, or sporting grants at the discretion of the Board.

### 6. GRANT APPLICATION ELIGIBILITY

Available to all students who are:

- Enrolled full-time at a New Zealand Secondary School.
- Enrolled full-time or part-time at a New Zealand Tertiary Institute or with Vocational Training Provider or undergoing a workplace apprenticeship; or
- Enrolled in an industry approved/recognised training organisation for a non-fundable short course, conference or non-studylink application (for example via Brightstar or Training NZ workshops or conferences, First Aid or Health & Safety courses and CAANZ and NZ Institute of Directors subscriptions etc.)

### And in which the applicant **MUST**:

- Be of Taranaki lwi descent and registered with Te Kāhui o Taranaki.
- Be based in New Zealand.
- Be enrolled with a government recognised secondary school or tertiary institution, vocational training scheme, apprenticeship, or industry approved/recognised training organisation in New Zealand.
- Submit a fully completed application including all required information by the closing date (incomplete or late applications will not be considered).
- Provide proof of enrolment for year of the grant application and a transcript or report of the grades for the previous year (if applicable).
- Provide verification of bank account details.

Grants are open to applicants of all ages that meet the eligibility criteria.

### 7. APPLICATION PROCESS AND ASSESSMENT

- Educational Grants for Secondary open in January and close in March.
- Education Grants for Tertiary open in January and close in March.





- Education Grants for Vocational/Apprenticeships open in January and close in June.
- Education Grants for Non-fundable short courses, conferences, membership subscriptions and non-studylink applications open in January and close in June.
- Applicants are eligible to receive one grant in a financial year.
- Applications are vetted to ensure eligibility criteria are met.
- All applicants will receive notification of application receipt.
- Applications will be considered by a panel appointed by the Board of Te Kāhui o Taranaki, in which their decision will be final and binding.
- All applicants will be notified of the panel's decision within four weeks after the closing date.
- For successful applicants, grant disbursement for **secondary school applications** will be made to the bank account nominated by the parent/guardian, and scholarship disbursement for **all other grants** will be made directly to the applicant's nominated bank account.
- All recipients are notified of payment via email and will receive a confirmation letter and remittance slip. Payment may be remitted up to eight weeks from the date applicants are notified.

### Reciprocation commitment to Te Kāhui o Taranaki lwi may include:

- Being involved with Taranaki Iwi.
- Attending at least one 'Te Kāhui Taiohi o Taranaki' wānanga per year.
- Attending a Te Kāhui o Taranaki AGM.
- Attending at least one cultural | wānanga per year.
- Acknowledging your affiliation to Te Kāhui o Taranaki lwi in all publications, especially when awarded other scholarships and grants.
- Notification of scholastic achievement.
- Participation in grant recipient feedback surveys and focus groups.
- Social media "Like/Share".
- Contribute content for Te Kāhui publications i.e. stories, essays, artwork, photos etc.

### 8. CONDITIONS AND RESPONSIBILITIES

Applicants will be eligible to apply for another Educational Grant the year following a successful application and are awarded to a single successful applicant a maximum of three (3) consecutive times.

If applicants are unsuccessful, they may re-apply in the following year.

### 9. POLICY OWNER AND REVIEW CYCLE

Responsibility for the implementation and delivery of this policy shall be by Te Kāhui o Taranaki lwi and shall be reviewed no less than once every 3 (three) years or as required.





## 10. APPENDIX 1

|             | Secondary   | \$50,000.00   | Tertiary    | \$90,000.00   |
|-------------|-------------|---------------|-------------|---------------|
| #Recipients | Grant \$ea. | Pool Total \$ | Grant \$ea. | Pool Total \$ |
| <60         | \$847.46    | \$50,000.00   | \$1,525.42  | \$90,000.00   |
| 60          | \$833.33    | \$50,000.00   | \$1,500.00  | \$90,000.00   |
| 61          | \$819.67    | \$50,000.00   | \$1,475.41  | \$90,000.00   |
| 62          | \$806.45    | \$50,000.00   | \$1,451.61  | \$90,000.00   |
| 63          | \$793.65    | \$50,000.00   | \$1,428.57  | \$90,000.00   |
| 64          | \$781.25    | \$50,000.00   | \$1,406.25  | \$90,000.00   |
| 65          | \$769.23    | \$50,000.00   | \$1,384.62  | \$90,000.00   |
| 66          | \$757.58    | \$50,000.00   | \$1,363.64  | \$90,000.00   |
| 67          | \$746.27    | \$50,000.00   | \$1,343.28  | \$90,000.00   |
| 68          | \$735.29    | \$50,000.00   | \$1,323.53  | \$90,000.00   |
| 69          | \$724.64    | \$50,000.00   | \$1,304.35  | \$90,000.00   |
| 70          | \$714.29    | \$50,000.00   | \$1,285.71  | \$90,000.00   |
| 71          | \$704.23    | \$50,000.00   | \$1,267.61  | \$90,000.00   |
| 72          | \$694.44    | \$50,000.00   | \$1,250.00  | \$90,000.00   |
| 73          | \$684.93    | \$50,000.00   | \$1,232.88  | \$90,000.00   |
| 74          | \$675.68    | \$50,000.00   | \$1,216.22  | \$90,000.00   |
| 75          | \$666.67    | \$50,000.00   | \$1,200.00  | \$90,000.00   |
| 76          | \$657.89    | \$50,000.00   | \$1,184.21  | \$90,000.00   |
| 77          | \$649.35    | \$50,000.00   | \$1,168.83  | \$90,000.00   |
| 78          | \$641.03    | \$50,000.00   | \$1,153.85  | \$90,000.00   |
| 79          | \$632.91    | \$50,000.00   | \$1,139.24  | \$90,000.00   |
| 80          | \$625.00    | \$50,000.00   | \$1,125.00  | \$90,000.00   |
| 81          | \$617.28    | \$50,000.00   | \$1,111.11  | \$90,000.00   |
| 82          | \$609.76    | \$50,000.00   | \$1,097.56  | \$90,000.00   |
| 83          | \$602.41    | \$50,000.00   | \$1,084.34  | \$90,000.00   |
| 84          | \$595.24    | \$50,000.00   | \$1,071.43  | \$90,000.00   |
| 85          | \$588.24    | \$50,000.00   | \$1,058.82  | \$90,000.00   |
| 86          | \$581.40    | \$50,000.00   | \$1,046.51  | \$90,000.00   |
| 87          | \$574.71    | \$50,000.00   | \$1,034.48  | \$90,000.00   |
| 88          | \$568.18    | \$50,000.00   | \$1,022.73  | \$90,000.00   |
| 89          | \$561.80    | \$50,000.00   | \$1,011.24  | \$90,000.00   |
| 90          | \$555.56    | \$50,000.00   | \$1,000.00  | \$90,000.00   |
| 91          | \$549.45    | \$50,000.00   | \$989.01    | \$90,000.00   |
| 92          | \$543.48    | \$50,000.00   | \$978.26    | \$90,000.00   |
| 93          | \$537.63    | \$50,000.00   | \$967.74    | \$90,000.00   |
| 94          | \$531.91    | \$50,000.00   | \$957.45    | \$90,000.00   |
| 95          | \$526.32    | \$50,000.00   | \$947.37    | \$90,000.00   |
| 96          | \$520.83    | \$50,000.00   | \$937.50    | \$90,000.00   |





| 97  | \$515.46 | \$50,000.00 | \$927.84 | \$90,000.00 |
|-----|----------|-------------|----------|-------------|
| 98  | \$510.20 | \$50,000.00 | \$918.37 | \$90,000.00 |
| 99  | \$505.05 | \$50,000.00 | \$909.09 | \$90,000.00 |
| 100 | \$500.00 | \$50,000.00 | \$900.00 | \$90,000.00 |
| 101 | \$495.05 | \$50,000.00 | \$891.09 | \$90,000.00 |
| 102 | \$490.20 | \$50,000.00 | \$882.35 | \$90,000.00 |
| 103 | \$485.44 | \$50,000.00 | \$873.79 | \$90,000.00 |
| 104 | \$480.77 | \$50,000.00 | \$865.38 | \$90,000.00 |
| 105 | \$476.19 | \$50,000.00 | \$857.14 | \$90,000.00 |
| 106 | \$471.70 | \$50,000.00 | \$849.06 | \$90,000.00 |
| 107 | \$467.29 | \$50,000.00 | \$841.12 | \$90,000.00 |
| 108 | \$462.96 | \$50,000.00 | \$833.33 | \$90,000.00 |
| 109 | \$458.72 | \$50,000.00 | \$825.69 | \$90,000.00 |
| 110 | \$454.55 | \$50,000.00 | \$818.18 | \$90,000.00 |
| 111 | \$450.45 | \$50,000.00 | \$810.81 | \$90,000.00 |
| 112 | \$446.43 | \$50,000.00 | \$803.57 | \$90,000.00 |
| 113 | \$442.48 | \$50,000.00 | \$796.46 | \$90,000.00 |
| 114 | \$438.60 | \$50,000.00 | \$789.47 | \$90,000.00 |
| 115 | \$434.78 | \$50,000.00 | \$782.61 | \$90,000.00 |
| 116 | \$431.03 | \$50,000.00 | \$775.86 | \$90,000.00 |
| 117 | \$427.35 | \$50,000.00 | \$769.23 | \$90,000.00 |
| 118 | \$423.73 | \$50,000.00 | \$762.71 | \$90,000.00 |
| 119 | \$420.17 | \$50,000.00 | \$756.30 | \$90,000.00 |
| 120 | \$416.67 | \$50,000.00 | \$750.00 | \$90,000.00 |
| 121 | \$413.22 | \$50,000.00 | \$743.80 | \$90,000.00 |
| 122 | \$409.84 | \$50,000.00 | \$737.70 | \$90,000.00 |
| 123 | \$406.50 | \$50,000.00 | \$731.71 | \$90,000.00 |
| 124 | \$403.23 | \$50,000.00 | \$725.81 | \$90,000.00 |
| 125 | \$400.00 | \$50,000.00 | \$720.00 | \$90,000.00 |
| 126 | \$396.83 | \$50,000.00 | \$714.29 | \$90,000.00 |
| 127 | \$393.70 | \$50,000.00 | \$708.66 | \$90,000.00 |
| 128 | \$390.63 | \$50,000.00 | \$703.13 | \$90,000.00 |
| 129 | \$387.60 | \$50,000.00 | \$697.67 | \$90,000.00 |
| 130 | \$384.62 | \$50,000.00 | \$692.31 | \$90,000.00 |
| 131 | \$381.68 | \$50,000.00 | \$687.02 | \$90,000.00 |
| 132 | \$378.79 | \$50,000.00 | \$681.82 | \$90,000.00 |
| 133 | \$375.94 | \$50,000.00 | \$676.69 | \$90,000.00 |
| 134 | \$373.13 | \$50,000.00 | \$671.64 | \$90,000.00 |
| 135 | \$370.37 | \$50,000.00 | \$666.67 | \$90,000.00 |
| 136 | \$367.65 | \$50,000.00 | \$661.76 | \$90,000.00 |
| 137 | \$364.96 | \$50,000.00 | \$656.93 | \$90,000.00 |
| 138 | \$362.32 | \$50,000.00 | \$652.17 | \$90,000.00 |
| 139 | \$359.71 | \$50,000.00 | \$647.48 | \$90,000.00 |





| 140 | \$357.14 | \$50,000.00 | \$642.86 | \$90,000.00 |
|-----|----------|-------------|----------|-------------|
| 141 | \$354.61 | \$50,000.00 | \$638.30 | \$90,000.00 |
| 142 | \$352.11 | \$50,000.00 | \$633.80 | \$90,000.00 |
| 143 | \$349.65 | \$50,000.00 | \$629.37 | \$90,000.00 |
| 144 | \$347.22 | \$50,000.00 | \$625.00 | \$90,000.00 |
| 145 | \$344.83 | \$50,000.00 | \$620.69 | \$90,000.00 |
| 146 | \$342.47 | \$50,000.00 | \$616.44 | \$90,000.00 |
| 147 | \$340.14 | \$50,000.00 | \$612.24 | \$90,000.00 |
| 148 | \$337.84 | \$50,000.00 | \$608.11 | \$90,000.00 |
| 149 | \$335.57 | \$50,000.00 | \$604.03 | \$90,000.00 |
| 150 | \$333.33 | \$50,000.00 | \$600.00 | \$90,000.00 |
| 151 | \$331.13 | \$50,000.00 | \$596.03 | \$90,000.00 |
| 152 | \$328.95 | \$50,000.00 | \$592.11 | \$90,000.00 |
| 153 | \$326.80 | \$50,000.00 | \$588.24 | \$90,000.00 |
| 154 | \$324.68 | \$50,000.00 | \$584.42 | \$90,000.00 |
| 155 | \$322.58 | \$50,000.00 | \$580.65 | \$90,000.00 |
| 156 | \$320.51 | \$50,000.00 | \$576.92 | \$90,000.00 |
| 157 | \$318.47 | \$50,000.00 | \$573.25 | \$90,000.00 |
| 158 | \$316.46 | \$50,000.00 | \$569.62 | \$90,000.00 |
| 159 | \$314.47 | \$50,000.00 | \$566.04 | \$90,000.00 |
| 160 | \$312.50 | \$50,000.00 | \$562.50 | \$90,000.00 |